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19 a4 12.31} Uvhkv 150 1,847
20 =y 0f Uvbv 130 0
21 UK (4t) 0 Uvhv 130 0
22 K VISV 3,948 Uwvkv 0.0 014.7.3. 2B BHEH
23
24 /N 464,329 (M/5.36n1)
25
26 {1m H47-DHLf 86,629 (F9/m)
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3.4  [wmdiE s O il 2 U 55 5]
REMELTH Y, BAFENELS, 7 L= IC L5 MO EEbLER, BEOROILY, Bl
(IZFRETH DA, 1 R TRESKIBCHE S 5720, M LHAIER < 72 5,

3.4.1 [1 BfE TAlRemERa] --oomeeeeee 7R ()
3.4.2 [ THEMR] e XA

34.3 [7—V—o@nE] e 2L

3.4.4  [IKGEHE] oooveeerreeeeen #FAhET

3.45 [ TOVEI] oo 0

3.46 [BVARNSEIWT] oo VB (22Tl 1 BRIz SWT 20 5% E L)

3.4.7 [YIKrE DIAR]
B X 1200 mm, JEME 700 mm, K¥f 300 mm, B/ 400 mm®D LFEH - b b,

3.4.7.1 [EHWrmes] e 0.52 i
3.4.7.2 [MREDEIL] oo 0.3m
3.4.7.3 [HEfIE] - 2.6m
3.4.7.4 [AKEHEEBEEE] oo oL
3.4.8 [HAKDIE] - BT b ar 7 U — k
3.4.9 [BFE] o EEL (1.2% )
3.4.10 [T FFIA]] rvereeeerrmmmmeeeeneees o G
3.4.11 [BHEBRED L YL] cooveeeenn BE kL
3.4.12 [ARFT] rveeeerrrmrreeesmmnnreeennn, L
3.4.13 [AKHHET] oovvvrreeerrrmmmreeenonnes L
3.4.14 [B%7=v @G T &) e N
3.4.15 [BIEODRF] oo TEEEANEIE & AT 2
3.4.16 [JHAKDEFH] oo TEEENBHIK B AT 5
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NG| IR = =X {72 X S ke
IERPNLS- HEG& 1 A 36,125 36,125
2 RrEREER 1 A 33,375 33,375
3 TEfEER 2 A 29,875 59,750
4 TS (oK ) 0 A 28,000 0
5 HERAREE LT 1 = 45,600 45,600
6 It A 0 = 5,860 0
7 PEEEEE N 2 =] 2,840 5,680
8 2=y 0 =) 11,800 0
9 K H (4t) 0 = 12,200 0
10 i BEE UAY— 4.29 m 35,000 150,150
11 HH#EM Y T T— 5.96 VN 100 596
12 AY—T 7 E 300 2,100
13 THFE T B 1} ®&yh 4,946 4,946
14 7= — i B 27,640 27,640
15 B —)— 0 fA 2,850 0
16 [UEESAN 6 e 2,260 13,560
17 (8 REL RIS 0f Uvhv 130 0
18 TAY— — 0f Uyhv 150 0
19 a4 24.62] Uvkv 150 3,693
20 =y 0f Uvbv 130 0
21 K H (4t) 0 Uy 130 0
22 K VISV 2,1847 Uwvkv 0.0 014.7.3. 2B BHEH
23
24 NGt 383,215 (1/1.55m)
25
26 {1m H47-DHLf 247,235 (F1/nt)
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